2008 05 13 1

Batsystem HPG5 - Monteringsanvisning

W Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097,
www.batsystem.se, info@batsystem.se

IR
: vm

Detta behéver du:
You will need this:

MARKER PEN

-]

o
M8 12532 M6 gzz @32 ®25 8
x1 x4 )(()2 . x2 X2
M8x16 M10x50 M10x50 M6x35 M6x40
X1 x1 = =T © ré 650
@22,650 mm @25, 250 mm TZ’ ;‘3 x2 ‘ ¥  x2 ] .
M0 M0 Mo x16 (i teaken / in the teak) |2|

330

Ny o=

spema 650

J“Méﬂ)“ X2 | / :
i@@—Fj& M10x50 - ]

= — =]

0BS! Vid montage av BKT72-250 se sid 3 (B3).
NB! For mounting of BKT72-250, page 3 (B3).

[7]




2008 0513 2

®|

11abcdg




2008 0513

X2

FSM5x35

MARKER PEN

-

—

x2

4,2x19 mm




